NS BE o8 1 M F KA

(1) ROEERT [CHTREFEIHENEFL LD,
v 2 _|__
2 -
@
— -

(2) XD [CHTIEFRLIHZENETFEL LD,

2 12 15 2 20 5
O3z =— @207 4 ®7=%9 @64~
(3) ROABZHHTLEL &L,

12 24 20
D36 @52 ®%50
(4) ROPBZBERTLELELD,

1 5 8 1 5 7
Vs % ) @5 T2
(5) ROAYBZBENLTRKESIZHR, [CHTIEFEDTRFETENETEL LD,

2 1 3 5 5 12
Ve__3 @8l T2 O a4
(6) RONBzRTLFEL & D,
p2 8 1 2 _ 3 ___Ja__

3" 4" 2 3 12 4 12 2 12

3 7 1 3 7 1
Y% 70 4 5 = 10 [ |4 [




NS BE o8y 1fE% - e

(1) XOEERT

[CHTEFLIHZENSEL LD,

@ o 6
3 [ g /ﬁ:‘%&ﬁs‘ﬂl:\
B C#ZzHIT
= PEZER CHE
2 6 L ThotylL
THKREZX
(2) Xkm [ZHTITFES #ENZTFELLS, k\ﬁC?To ,/
p2_12 ®15_3 ®£_: @20 _ 5
3_18 20 4 7 49 64_16
HoETHICIE 9FESBOERKX
(3) RODHBZEHNDPLEFLLEOD S MHNMTHFENBEDLY ET,
12 2
D36 @72 ® %50
12=+12 _ 1 24+6 _ 4 20510 2
3612 3 42+-6 7 50-10 5
PEONEHEHADTT, Thzisn
; VAY A= AN ‘o
(4) 51(0)735;&’&1573 LELES ﬁﬂ&é‘éﬁ%ﬂ:t:ﬁbi?o
V5% 253 95 T2
6 25 8 3 5 14
30 3 9 ' 9 24 24

(5) RODHZERSLTKESZLR,

2 1
> | L
®5 3
6 5
15 15

(6) ROSBZEBITLEL & Do

0

@

w|n

3
4

7
10"

1
2

a1
4

3 5
®8< 12
9 10
24 24
2 | 8 3
3 12 4
3 _['2] 2
5 20’5

[CHTREFEDIFFSENEFL LS,

5 12
®6 < 14
35 36
42 42

N | =

Ao




